Operations on large Numbers

Quesl. Mr Sumit bought a bike for Rupees 2,46,745 and a car for
rupees 15,80,480. What amount of money did he spend in all?

Ques 2. Sabina had rupees 15,00,000 with her. She bought a new car
for rupees 8,42,800 and a used car for rupees 2,82,170. How much money
Is left with her?

Ques 3. Ms. Srishti invested rupees 15,50,500 in her business last year.
The total sales was rupees 8,78,450. What is the difference between her
sales and investment?

Ques4. Rahul's father saved rupees 12,85,925 in the last 15 years. How
much more should he save to make it rupees15,00,000?

Ques5. What should be added to 5,37,93,210 to get 8,89,06,9727

Ques6. What should be subtracted from 9,66,05,398 to get 4,53,98,9327
Ques7. Find the difference between the largest 8-digit number and the
smallest 6-digit number?

Ques8. 21,32,481 people live in state A. 2,42,745 people moved from
state B to state A and 18,452 people move from state A to state C. How
many people now live in state A?

Ques9. Multiply 1275 by 428.

Ques10. Multiply 5297 by 1025.

Quesll. A basket of Apples cost rupees 1345. What is the cost of 96 such
baskets?

Quesl2. A silk saree cost rupees 2428. What will be the cost of 134 such
sarees?

Quesl13. There are 1520 children in a school. The school collects rupees
125 from each student for charity. Find the total amount collected.
Quesl4. Find the product of all the largest 3-digit number and the smallest
4-digit number.

Quesl15. A factory produces 363 dolls in a day. How many dolls will be
produced in 1268 days?

Quesl6. A factory manufactures 456 soaps in a day. How many shops will
the company manufacture in 15 weeks?

Quesl7. Divide 4932 by 38.

Ques18. 320 metres of cloth is needed to make a circus tent. How many
tents can be made with 64,320 meter of cloth?

Ques19. The cost of 11 identical mobile phones is 91,300. What is the cost
of 1 mobile phone?

Ques20. 100 kg of rice is required to feed soldiers in a military camp in one
day. How many days will 3200 kg of rice last in the camp?



Operations on large Numbers

Ques21. 68 pearls are needed to make a necklace. If there are 14,620
pearls, then how many necklaces can be made?

Ques22. A factory produces 18 bicycles per day. How many days will be
will it take to produce 10968 bicycles?

Ques23. A family eats 52 kg of rice in a month. How many complete
months will 768 kg of rice last? How much more rice is needed to make it
last for one more month? If the family reduces at consumption of rice by 4
kg per month, how many months will the given quantity last?

Ques?24. Atul had rupees 28,49,450 with him. He bought two machines.
One for rupees 4,78,500 and another for rupees 8,48,950. How much
money is left with him? If he wants to buy a third machine for Rs 20,00,000
how much more money will be needed?

Ques 25. The price of a second hand car is rupees 4,80,250. If the price of
a new car is rupees 2,18,750 more than the price of the second hand car,
what is the price of the new car?

Ques26. One bundle of notebooks costs rupees 216. What is the cost of
1825 such bundles of notebooks?

Ques27. If the train fare from Kolkata to Bijapur for one person is rupees
33, then how many people can travel in an amount of rupees 80,2237
Ques?28. The cost of a silk saree is Rs 3445 and the cost of a shirt is
rupees 375. What is the total cost of 121 Sarees at 245 shirts?

Ques 29. 100 apples can be packed in one box. Can 1,00,800 apples be
packed in 1008 such boxes?



